o

V 4

@ .
L

Li}

o

723

Pump Max Pressure (bar) Max pump Flow(L/min) Pump Power (kW) | Heater(kw) | Max. Temp. | Weight(kg) Ver
38 21 055 6 200°C 70 |
inlet /Outlet Size CEPT female thread (inchl| Cooling Method Main/Sub.0il Tank(L) ng"u‘r"wlgf”k
33 Indrrect Coaling 6/32 1

A7y

==

e 4

922 3605
Y . -
)
-OBE S ;
2 STM-607-B-ALL Internal sfructure 1
1 STM-60T-A-ALL Shell metal plate 1
No Material number Name Mat Num Remarks
4 K% B STM-e0] | ES IRES
STM-607-ALL
it W WA = O #K
Bt * EEERAREGERLT | THEX
ﬁiﬂ. i&ﬁj E&E E&)\ H m ?ﬁ B ﬁ SH’N’ Shini Plastics Technologies, Inc. %ﬁ% ‘




y 4

%,

v /4
Y 4
v 4

7

72
y /4
y 4
V4

P
“
. @
C 7
Y 4
////// @ ° YW69081500000 |Butterfly bolt M8x15 0235A GB/T 3098
STM-607-A-06 |Cover plafe Welding parts Borrowed
STM-607-A-05 |Contral box Welding parts Borrowed
YW00040600200 [Long door lack key SUS201 CF-L06-DH
YW62051000100 |Large cross socket flat head screw M5x100 Q235A JIS1N
STM-607-A-08 |Contral box rear plate Welding parts Borrowed
‘L” SG-S-01 Wire fixture fixed plate SPCC2.0
D W W BES1250400450 |Cable 25x4CxLM(Tubular terminal)Select based an voltage
© YE67002900000 |Cable clamp PVC
STM-607-A-02 |[Left side plate Welding parts Borrowed
STM-607-A-13  |Rack Welding parts Borrowed
YR40523040000 |Plastic flexible buckle PV 52x30 has mould
YW69020500000 |Rivet 2x5 2024 GB/T 827
YW01051000000 |Pin spring 65Mn for new model of STM
STM-607-A-01 |Right side plate Welding parts  Borrowed
STM-607-A-10 |Contral box battom plate Electrolysis Borrowed
YW66081900000 |Flat washer 8 0235A Bx19x2.0
YW00040600000 [Door lock long fender SUS201 MF-406-DH
YW00000000100 |Long door lock PvC
YW20660900100 |Door plank aluminum handle 2024 6609(Yaxuan)
YW63040600000 |Cross recessed pan head screw Mix6 0235A GB/T-823
YE10021160000 |Main power switch PVC TO-2-1/EA/SVB/16A Mule
STM-607-A-04 |Door plank Welding parts Borrowed
YW90120700000 |Aluminum cooler 6061
YW06219100000 |Big hinge 2024 Shengjiu CL219-1
YW67040600600 |Cross sacker pan head self-tapping lock screw Maxd 0235A GB6560
YW61061601200 |Inner hexagan cylinder screw M6x16 12.9 GB/T701
YW03000200000 |Castor Rubber 2" without brake 35KG
YW61082001200 |Inner hexagan cylinder screw M8x20 12.9 GB/T701
YW65008000100 |Standard spring washer 8 65Mn GB/T93
YW6T481900000 |Cross socket head Fapping screw 0235A GB/T15856 1
YR40018500000  |Fixed base PVC WQSAD18.5B
YW62061000000 |arge cross sacket flat head screw Méx10| B235A JISTN
Material number Name Mat Renarks
K% FA STM-607 B AL i | %E
Yot Arbie — O #K

wE| EHw

ERE

ERA | BN

P,
SHINI 5522827

FEER




34| YW90002300000 | Dit cover 1 | Assembly

33 STM-607-B-13 Reverse air suction pipe SUS304 1

32 YW59308000600 | Swing check valve 3/8" Cu 1| KTZ

31| YW62051000100 | terge cross sacket flat head screw Msxio | 1235A ER IS

30 S-60-ALL Level detector assembly 1 | Assembly

29 | YR40251500100 | Plastic plug without nut PVC 2| SM25x15(Black)

28 | STM-607-B-04 | Cooling pipe assembly 1 | Welding parts Borrowed

27| YW66102000100 | Flat washer A grade 10 Q235A 8 | GB/T97.1(11x20x2)

26 YW65010000000 | Standard spring washer 10 65Mn 8 | GB/T93

25 YW66523400000 | Copper washer Q235A 2 | SHD-100KG(5.2x34)

24 YR30000400100 Rubber plug 1/2" single hole red PvC 6

23| YW65050000000 | Standard spring washer 5 65Mn 6 | GB/T93

22 | YW66051300000 | Flat washer A grade 5 235A 16 | GB/T97.1(5.5x10x1)

211 YP51031640000 | Safety ceramic hat 3/16 Ceramic | 6 | Safety ceramic hat 3/16

20 | YW64000600300 | Hexagonal nut Mo Q235A 5 | GB/T6170

19 | YW65006000100 | Standard spring washer 6 65Mn 5 | GB/T93

18 S-190 Pipe heater cover SPCC10 1

17 | YW66061300000 | Flat washer A grade 6 a235A 5

16 YW05083800100 | Sleeve connector 2 | 8MMX3/8"PT L-type (H59)

15 YR20121200000 | Flexible graphite gasket 1S0-68 2| 120x120x2.0

1L STM-607-B-03 | Pipe heater assembly 1 | Welding parts Borrowed

13 S-73 Copper insert H62 1| M13x1/2°PT

12 YE67165800000 | Quick connector of hose PV(C 1| wQG1-M16B/AD15.8

1| YWS57010200000 | Y-fype filter H62 1| 1/2°PT 30-35 me=h

10 S-142 Copper joint fourth set 1

9 TP-55 TP-55 pump 1| 0.55KW 27L/min 3.Bbar Anbo

8 YW60062500000 | Hex. bolt M6x25 L8 L | GB/T5781

7 YE66001300000 Flexible conduit PAG6 1 | WY-PA6AD13.0B 15m

6 | YE67001340000 | Flexible pipe blind end PVC 1 | WQEAD13.08

5 BH90115000050 | High temp. fester 1 | EGo

L STM-607-B-02 Heating fank 1 Welding parts

3| STM-607-B-09 | Mt e Ay |

2 | YW65008000100 | Standard spring washer 8 65Mn 4 | GB/T93

1 YW66081900000 | Flat washer 8 az35A 8 | 8x19x2.0

No Material number Name Mat Num Remarks
2: }f; e Sg;g;;7 STM-607-B-ALL %@ ﬁi
Bt # §’.”N’ pEEMAREGERLR | FBER

it Eoy EhE ERA HY | WH BEH L Shiri Plastics Technologies, Inc. e ‘




$20 | £2F

Sk 55 56 57 58 59 60 61 62

35
36
37
38
39
L0
Lé’\(“‘-"' 67 | YW61083000000 | et 1e*29° cyinder screw 129 [« |GB/T701
= \\" o 66 STM-607-B-05 Pressure gauge pipeline SUS304 1
{)j' = 65 | YW63030600000 |[25erecessedpanteadsaew 102354 | 3 [GB/T-823
< » 6L | YWB5001000100 |Pressure gauge 1 {0~1.0MPa Pa e
63 STM-607-B-01 Cooling tank and oil tank 1 Welding parts
43 62 S-82 Level detector nut H62 1 [1/4"H
L 61 BH12060701710 | H to PT connector H58 2 | Female thread 1/4"PT to female thread 1/4°H
60 | YWO05061400000 |Sleeve connectar T | 6MMX1/L""PT(H59)
53 &5 59 STM-607-B-07 |Level defector pipe SUS304 | 1
58 | STM-607-B-06 |Dil bypass pipeline SUS304 | 1 |Borrowed
57 S-08 Pipe coupler H58 1| 1/6"PTx1/6"PT
52/ 51/50/49 8\l b 56 | YW50220000000 |Bufterfly ball valve SUS304 | 1 [1/4" heat-resistant 200t
55 | YW05061400100 | Sleeve connectar 1 | 6MMX1/L"PT L-type (H59)
54 | BE90341500050 | Thermocouple SUS304 | 1 [15M
53 YE67109000000 | Quick connector of hose PvC 1 |WQG1-PO9B
52 | YE67015800100 | Flexible pipe blind end PVC | 2 |WQEAD15.8B
51 S-02 Copper horn connector H58 1 [1/2"PTx3/4"H 55MM
50 YE6T111000000 | Quick connector of hose PvC 1 |wWQaG1-P11B
49 S-03 Copper horn connector H58 1 |2/1"PTx3/L"H 15MM
L8| YWO0L030800400 | Tonflon connector H58 1 [ 1/L"PTx3/8"H L
L7 S-171 Teflon plug H58 1 |3/8"H plug
L6 | YE66015800000 |Flexible conduit PA66 2 |WY-PAGADI5.8B 13m
451 YW05083800000 |Sleeve connectar 4 | 8MMX3/8"PT [H59)
Lt S-84 Copper three-way joint 3/8" 1 |Equipped with universal copper nuf
43 S-85 Copper insert H58 1 |3/8"PTx ®13
47 S-07 Copper pipe coupler H58 1 |3/8"PTx3/8"PT
L1 | YE32382400000 |Solenoid valve 24V 1 |3/8PT [Kailing)
40| YR30010200000 | Copper pipe plug Rubber | 2 11/2"PT
39| STM-607-B-08 |Wafer bypass pipeline SUS304 | 1 |Borrowed
38| STM-607-B-11 | Cooling pipe inlef pipe SUS304 | 1 |Borrowed
37 STM-607-B-12 | Cooling pipe outlet pipe SUS304 |
36 | YW61103000100 | her FeXagon yInder saew [ 12,9 | g [GB/T70.1
35 | YW64L000400500 |Hexagonal nut Mk A2-T0 |12 |GB/T6170
No Material nunber Name Mat Num Remarks
HE k% BA STM-607 B oLl Al %E
it ¥ HAIEH = O #K

#i E#W ERE ERA HE | %H HH o Shini Plastics Technologies, Inc. e ‘




Pr::;ﬂfrz?;ar) FT;::(LD/UQEI Poi::}iwl fearertew) TZBFHXD Weightlkg)) Ver
@ @7— 5.0 42 0.75 9 200°C i H
Inlet /Dutlet Size CE PT female thread (inchl ;Zimi Main/Sub.0il Tankl(L) HEZ'U‘”NQDJFG”
0000000000000 i Coslmg | 6/32 w
74 f— [ ]
74
YA — )
G - 000000 7/ 0 i
L 20000000 y 4 E— 2
0000000 20
4 Y 4 D -
Y N0
N Y 4 %ﬂr 0
@ 0y -
" U T T .
y = 4
%/ ]
919 3605 7
Yy = 4
Y4
F 4 1
4 Y. -

2 STM-910-B-ALL Infernal structure 1
1 STM-607-A-ALL Shell metal plate 1
No Material number Name Mat Num. | Remarks

4 K% L= T IRES

it ¥ WA = O #K

3 P,
Ll # SHIN :5=pnssnnna KEER
ﬁ i i&ﬁj i& }% E% A il m ?ﬁ H ﬁ Shini Plastics Technologies, Inc. %ﬁ% ‘




#2R

33 | YW90002300000 | Otcover 1 | Assembly

32 | STM-607-B-13 | Reverse ar suction pipe SUS304 | 1

31 YW59308000600 | Swing check valve 3/8" Cu 1 KITZ

30 S-60-ALL Level detector assembly 1| Assembly

29 | YW62051000100 | L2rge (fose setker flat head 0235A | 3 [Jisimn

28 STM-607-B-04 Cooling pipe assembly 1 | Welding parts Borrowed

217 BH12060701710 | H to PT connector H58 2 | Female thread 1/4"PT to female thread 1/4"H

26 | YR40251500100 | Plastic plug without nut PvC 2 | SM25x15(Black)

25 S-82 Level detector nut H62 1 1/4"H

2L | YW65010000000 | Standard spring washer 10 65Mn 8 | GB/T93

23 | YW66102000100 | Flat washer Agrade 10 Q235A | 8 | GB/T97.1(11x20x2)

22 YR30000400100 | Rubber plug 1/2" single hole red PVC 6

21| YW66051300000 | Flaf washer A grade 5 Q235A | 16 | GB/T97.1(5.5x10x1)

20 S-190 Pipe heater cover SPCC10 1

19 | YW65050000000 | Standard spring washer 5 65Mn 6 | GB/T93

18 YP51031640000 Safety ceramic hat 3/16 Ceramic 6 | Safefy ceramic hat 3/16

17 | YW66523400000 | Copper washer Q235A | 2 | SHD-100KG(5.2x34)

16 | YW64000600300 | Hexaganal nut M& Q235A | 5 | GB/T6170

15 YW66061300000 | Flat washer A grade 6 Q235A g5

% YW65006000100 | Standard spring washer 6 65Mn 5 | GB/T93

13 | YWO05083800100 | Sleeve cannector 2 | 8MMX3/8"PT L-type (H59)

12 YR20121200000 Flexible graphite gasket 1S0-68 2 20x120x2.0

1 5-73 Copper insert H62 1| MBx1/2°PT

10 | YWS57010200000 | Y-type filter H62 1| 1727 PT 30-35 mesh

9 YR30010200000 | Copper pipe plug Rubber 2 | w2eT

8 S-BL Copper three-way joint 3/8" 1 Equipped with universal copper nut

7 | YE6T001340000 | Flexible pipe blind end PVvC 2 | WOEAD13.08

6 YE66001300000 | Flexible conduit PA66 2 | WY-PABAD13.0B 15m

5 YW60062500000 | Hex. bolt Mex25 L8 L | GB/T5781

[ YW66081900000 | Flat washer 8 Q235A 8 | 8x19x2.0

3 BM20007500550 | TP-75 pump Q235A 1

2 BH90115000050 | High temp. tester 1 | EGD

1| STM-607-B-09 | Fiion o mashmg bame e |

No Material number Name Mat Num Remarks
HE W5 B STMo9n | EE IS
e " vy SIC-1TW-R2-A-03 E}@ e
L5} * §’.”N’ EERNARRAERAT | REEX

it Eoy EhE ERA HY | WH BEH L Shiri Plastics Technologies, Inc. e ‘




L9

L8

L7

L6 /L5

#2281

%2R

3b
35
36
37
38
39 66 | YWO05083800000 |Sleeve connector L | 8MMX3/8"PT (H59)
65 S-142 Copper joint fourth set 1
40 6L STM-607-B-08 | Water bypass pipeline SUS304 1 | Borrowed
63 STM-607-B-12 | Cooling pipe outlet pipe SUS304 1
67 STM-607-B-11 | Coaling pipe inlet pipe SUS304 1 |Borrowed
61 STM-607-B-07 |Level defector pipe SUS304 1
60 | YW6303060p0pp |LTOSS Pecessedpaniead 0235A | 3 |cB/1-823
59 | YWB5001000100 |Pressure gauge 1| 0~1.0MPa o
58 STM-607-B-05 |Pressure gauge pipeline SUS30L 1
57 | YW65008000100 | Standard spring washer 8 65Mn | & |GB/TS3
2 \al 56 | YW61083000000 |[FHeT NEXagON YINGer screw [ 12,9 | ¢ | ga/T701
55 | YW05061400000 |Sleeve connector 7 | 6MMX1/4"'PT(HS9)
Sk STM-607-B-06 | Ol bypass pipeline SUS304 | 1 |Borrowed
53 YW50220000000 |Butterfly ball valve SUS304 1 174" heat-resistant 200T
52 | YWO05061400100 |Sleeve connector 1| 6MMX1/4"PT L-type (H59)
51 S-08 Pipe coupler H58 1 | 1/L"PT<1/L"PT
50 | BE90341500050 |Thermocouple SUS304 | 1 [15M
L9 STM-910-B-02 Heating fank 1 Welding parts
LB STM-607-B-01 Coaling tank and oil tank 1 Welding parts
47 | YE67015800100 |Flexible pipe blind end PvC 2 | WQEAD15.8B
L6 YE6T109000000 | Quick connector of hose PvC 1 | WQaG1-Po9B
L5 S-04 Copper connector H58 2 | 3/L"PTx3/L"H
Lk | YWO0L030800400 |Tanflon connector H58 1| V/E"PTx3/8"HL
L3 S-171 Teflon plug H58 1 |3/8"H plug
42 | YE66015800000 |Flexible conduit PA6E 2 | WY-PA6ADT58B 13m
41 YE67111000000 | Quick connector of hose PvC 1 | WQaG1-P11B
L0 S-07 Copper pipe toupler HS58 1 |3/8"PTx3/8"PT
39 S-85 Copper insert H58 1 |3/8"PTxe13
38 YE32382400000 | Salenoid valve 1 | 3/8(Kailing)24VAC VXD2130-10DJ
37 | YE67165800000 |Quick connector of hose PVC 1 | WaGI-M16B/AD15 8
36 | YWe1103000100 [ [nErhexsgon ayinder saew | p.g g 6/ 77040
35 STM-910-B-08 Pipe heater assembly 1 Welding parts
34 | YW6L000L00500 |Hexagonal nut Mé4 A2-70 12 | GB/Te6170
No Material number Name Mat Num Remarks
A L33 B STM-910 B oBALL Ll »E
it ¥ HAIEH = O #K
Ll * /s".”N’ pEEMAREGERLR | FBER
ﬁﬁl‘ i&ﬁj i& }g E% }\ H m ?ﬁ B ﬁ et Shini Plastics Technologies, Inc. %ﬁ% ‘




Pump M?xaf)re““re Max. pump Flow(L/min) [Pump Power (kW)| Heaterliw) Max. Temp| Weight(kg) | ver

6.2 Tk 15 12 200°C 90 G
%// i e |:| inlet /Qutlet Size CE PT female thread (inch) ;Z‘;L‘Zz Main/Sub Dil Tank(L) Hem:”gb;ank
v//An 11 oo 6.8/118 ]

773

. . 4 A |
y 4 Zz |
A iz |
e ). 4

959 364

O =

L]
it
©

2 STM-1220-B-ALL Infernal structure 1
1 STM-1220-A-ALL Shell mefal plafe 1
No Material number Name Mat Num. | Remarks

HE & A STMo220 [ ER IRES

it W WA = O #K

> P,
L5} * SHINI i =rpansinaa KEER
ﬁiﬂ. i&ﬁ]— i& 5 iﬁ A H m ?ﬁ H ﬁ Shini Plastics Technologies, Inc. %ﬁ’% ‘




" oy

|

\ i

L S——

Y 4 7 AL —
y /4 y 4k
N 4 y 4

200000

y /4

142

//////// WW 36 YP31118600600 Aluminum label 2024 1 Using Shell heat medum al S2 (for domestic sales)
///// /////////////// STM-1220-A-08 Cover plafe 1 Welding parts
/ Yy | 4 YW69081500000 Bufterfly bolt M8x15 0235A | 2 GB/T 3098
YW90120700000 Aluminum cooler 6061 1
1 RS485 communication tannector 1 Assembly
. . SG-S-01 Wire fixture fixed plate SPCC2.0 1
i J \"%\ \ I ‘r\ 7 STM-1220-A-06 Left side plate 1 Welding parts
STM-1220-A-01 Rack 1 Welding parts
YW01051000000 Pin spring 65Mn 6 for new model of STM
YW69020500000 Rivet 2x5 2024 | 33 GB/T 827
6 /5] 4 3 STM-1220-A-07 Right side plate 1 Welding parts
1253 STM-1220-A-02 Control box rear plate 1 Welding parts
STM-1220-A-0L Control box bottom plate el |1
STM-1220-A-05 Door plank 1 Welding parts
YW20660900100 Door plank aluminum handle 2028 1 6609(Yaxuan)
STM-1220-A-03 Control box 1 Welding parts
STM confroller 1
YW66081900000 Flat washer 8 0235A | 6 8x19x2.0
YW00040600000 Door lock long fender SUS20T | 1 MF-406-0H
Yw00000000100 Long door lock PVC 1
YW00040600200 Long door lock key SUS201 1 CF-L06-DH
YW630L0600000 Cross recessed pan head screw Mbx6 0235A 7 GB/T-823
YE10021160000 Main power switch PVC 1 T0-2-1/EA/SVB/16A Mule
YW61061600100 Inner hexagon flat head screw Méx16 0235A 1 GB/T702
BE51250400450 Cable 1 |25x4CxtM(Tubular terminal)Select based on voltage
YE67002900000 Cable clamp PV 1
YW06219100000 Big hinge 2024 2 Shengjiu C(L219-1
YW62051000100 |Large cross socket flat head screw M5x10] Q235A 12 JIS1N
YW670L0600600 Cross sockef pa(nr:ja;ieﬁtf—mppmgLo<k 0235A 5 GB6560
== e YW62061000000 |Large cross socket flat head screw M6x10[ Q235A 16 JIsmn
?552%% YW61082001200 Inner hexagon cylinder screw M8x20 12.9 1 GB/T701
- e YW03002500000 Castor 4 25" withou brake
== YW65008000100 Standard spring washer 8 65Mn 6 GB/T93
YR40018500000 Fixed hase PVC 1 WOSAD18.58
YW67481900000 Cross sacket head tapping screw 0235A 1 GB/T15856.1
YR40523040000 Plastic flexible buckle PVC 1 52x30 has mould
Material number Nane Mat Num. Remarks
We FE STM-1220 E% M0 AL MJ\ %%
Ak ] O HK
SHINI &ompunannsn | K2
ﬁiﬂ i&ﬁj i& }% E% A HE‘% ?ﬁ B ﬁ et Shini Plastics Technologies, Inc. %ﬁ% ‘




21

5 —— B3
22

28 29 30 31

32 33 3L

C

20 19

35 36 37

£1F | £2%

38 YW05061400100 Sleeve connector L 6MMX1/4"PT L-type [H59)
37 YW62051000100 Large cross sockef flaf head screw Msxto | 0 235A 6 Jistm
36 S-60-ALL Level defecfor assembly 1 Assembly
35 STM-1220-B-08 ot oil bypass pipe SUS304 |
34 S-30 Alumirir i YL-112 1 3/4"G fama » thread
33 STM-1220-A-09 Bell 1 Welding parts
32 YE14152400000 Micro switch 1 LXWS-124 1ud leng 1 100mm
31 Yw85001000100 Pressure gauge 1 0~1.0MPa 14 142
30 YW63030600000 ross recessedpan head screwM3xg 0235A | 3 GB/T-823
29 BH12060701710 Hto PT connectar H58 2 Female thread 1/4"PT ta female thread 1/4"H
28 YW05061400000 Sleeve connector L 6MMX1/4"'PT(H59)
27 STM-1220-B-04 Pressure gauge SUS304 1
26 YW65008000100 Standard spring washer 8 65Mn L GB/T93
25 YW61083000000 Inner hexagon cylinder screw Méx30 129 [ GB/T70.1
24 STM-1220-B-10 Mouning plate insulaton cotfon of heating Aluminn |
23 YW61103500000 Inner hexagon cylinder screw M10x35 2.9 8 GB/T70.1
22 STM-1220-B-07 Graphite gasket 1S0-68 2
2 YWO0L030800400 Tonflon connector H58 1 1/L"PTx3/8"H L
20 S-1M1 Teflon plug H58 1 3/8"H plug
19 YE67111000000 Quick tonnector of hose PvC 1 WQG1-P11B
18 YE66015800000 Flexible conduit PAGS 2 WY-PA6AD15.8B 1.3m
17 YE67015800100 Flexible pipe blind end PVC ? WQEAD1588B
16 TP-150 Pump a235A | 1 TP_150 s
15 STM-1220-B-05 Cooling pipe inlef pipe SUS304 1
14 STM-1220-B-09 Coaling pipe ouflef pipe SUS304 1
13 STM-1220-B-06 - ="=" bipass pipe SUS304 1
12 YE67165800000 Quick connectar of hose PVC | WQG1-M16B/AD1S 8
n YW66051300000 Flat washer A grade 5 A235A | 16 GB/T97.1(5.5x10x1)
10 YW65050000000 Standard spring washer 5 65Mn 6 GB/T93
9 YP51031640000 Safefy ceramic hat 3/16 Ceramic 6 Safety ceramic hat 3/16
8 YW64000600300 Hexagonal nut M6 a235A 5 GB/T6170
7 YW66061300000 Flat washer A grade 6 Q235A 5
6 YW65006000100 Standard spring washer 6 65Mn 5 GB/T93
5 YR30000400100 Rubber plug 1/2” single hole red PVC 6
L YW66102000100 Flaf washer A grade 10 A235A | 16 GB/T97.1 (11x20x2)
3 YW66523400000 Copper washer a235A | 2 SHD-100KGI5.2x34)
2 YW61103000100 Inner hexagan cylinder screw M10x30 129 8 GB/T70.1
1 YW65010000000 Standard spring washer 10 65Mn 16 GB/T93
No. Material number Name. Mat. Num. Remarks

?;i Fi; e S]Ig:Bé;;O B STM-1220-B-ALL %@ ﬁi

B * §’.”N’ EERNARRAERAT | REEX

’E‘iﬂ i&ﬁj i& )ﬁ E& A HE‘% ?ﬁ B ﬁ et Shini Plastics Technologies, Inc. %ﬁ% ‘




55

59

60 61 62 63 $2% | #0W
39
40
41
47
43
72 S-109 Liguid level switch insulation gaske 3-60 2 | Aramid fiber production(has mould)
LL " YW6L000400500 Hexagonal nut ML A2-70 1 GB/T6170
45 70 YW63042500000 Cross reressed pan head screw Mux25 | Q235A 2 GB/T-823
L6 69 STM-1220-B-01 Cooling tank and oil tank 1 Welding parts
L7 68 S-82 Level detector nut He2 1 1/4"H
67 YE66001300000 Flexible conduit PA66 2 WY-PA6AD13 0B 15m
48 66 YE67001340000 Flexible pipe blind end PVC 2 WQEAD13 0B
49 65 STM_907HT-B-17 lengihened screw of ofl distharge | H58 1 Borrowed
6L BH90115000050 over temperature protection EGO 1 £GO 50-300%
51 63 STM-1215HT-B-03 Pipe heater assembly 1 Welding parts Borrowed
62 YW59308000600 Swing check valve 3/8" Cu 1 KITZ
61 YW05083800000 Sleeve connector 1 8MMX3/8"PT (H59)
60 YR20121200000 Flexible graphite gasket 1S0-68 2 120x120x2.0
59 S-08 Pipe coupler H58 1 1/L"PT=1/4"PT
58 STM-1220-B-19 Reverse air suction pipe SUS30L 1
57 Yw50220000000 Butterfly ball valve SUS304 1 1/4" heaf-resistant 200T
56 BES0341500050 Thermocouple SUS304 1 15M
55 STM-1220-B-02 Heatfing tank 1 Welding parts
Sk YE67109000000 Quick connector of hose PVC 1 WQaG1-P09B
53 YW60062500000 Hex. bolt M6x25 L8 [ GB/T5781
52 YW66081900000 Flat washer 8 QZ35A 8 8x19x2.0
51 S-84 Copper three-way joinf 3/8" 1 Equipped with universal copper nut
50 S-85 Copper insert H58 1 3/B"PTx013
L9 YE32213100000 Solenoid valve 1 3/8(Kailing)220VAC
L8 S-07 Capper pipe coupler HS8 1 3/8"PTx3/8"PT
L7 S-142 Copper joint fourth set 1
L6 YR30010200000 Copper pipe plug Rubber 2 1/2"PT
LS YW57010200000 Y-type filter H62 1 1/2" PT 30-35 mesh
L S-73 Copper inserf H62 1 M13x1/2"PT
43 YW05083800100 Sleeve connector 5 8MMX3/8"PT L-type [H59)
42 STM-607-B-04 Cooling pipe assembly 1 Welding parts Borrowed
L1 S-190 Pipe heater cover SPCC10 1
L0 STM-1220-B-03 Level detector pipe SUS304 1
39 YRL0251500100 Plastic plug without nut PVC 2 SM25x15(Black)
No Material number Name Mat Num Remarks
?;i ﬁ;% e S;JF;B;ZO B STM-1220-B-ALL %@ ﬁ;
st # /s".”N’ pEEMAREGERLR | FBER
i Eod g ERA Bl | W B Qe Shiri Plastics Technologies, Inc. e ‘




/4

i

Pump Max. Pressure

P Max. pump Flow(L/min] [Pump Power(kWiieater(kWMax Temp| Weightlkg) | Ver

8.0 90 28 24 200°C| 145 F

Intet /Duttet Size (€ PT femste thread tnchl] 229 | Main/Sup,0il Tank(L) 1219 T30
Method Number

=
I:J 11 ph 11/16 2
L]
®
C——

904

I &
— 4 / A
ﬁ W £

4
A

. 4
4

A7
Y. 4

2 STM-2440-B-ALL Internal sfructure 1
1 STM-2440-A-ALL Sl neta pare 1
No Material number Name Mat Num Remarks,
HE W5 P STl B I
it W WABEA — O R
X P,
Rt * SHINI i =rpansnnaa HHER
ﬁiﬂ. i&ﬁ]— i& 5 iﬁ A Hﬁ ?ﬁ H ﬁ Shini Plastics Technologies, Inc. %ﬁ’% ‘




25 26

.

3
= iy -
o
[
/4 i ® 42| YP31118600600 Aluminum Label 2025 | 1 lising Shell heat medium sil 52 (for domestic sales)
iy  E— L1 ] STM-2L40-A-08 Cover plate 1 Welding parts
Z/4 . 40| YW90120700000 Aluminum cooler 6061 | 2
%Zj// Y . 39 STM controller 1
y i VY /4 = 38 | YE90048501200 RSL8S Cawrunica ion in e ace boarc 1
7 Y /4 37| YR40048500000 1ol RSL85 |
i (IR TR - N —
YV ////7/& 35| YRL0523040000 Plastic flexible buckle PVC 1 52x30 has mould
st | N = S N
. . 33| STM-24L0O-A-0L Contral box bottom plate SECCTS | 1
ls : ?:}L%\LJ —“w&\‘\{r\ \ 32 | STM-2440-A-02 Control box rear plafte 1 Welding parts
=7 \ 31| YW69020500000 Rivef 2x5 2024 |33 GB/T 827
@\ 1 30 | STM-24L0-A-07 Right side plate 1 Welding parts
\ 29| STM-2440-A-01 Rack 1 Welding parts
z 28 | YW20660900100 Door plank aluminum handle 2024 1 6609(Yaxuan)
27| STM-2L4LD-A-03 Control box 1 Welding parts
26| YW69081500000 Butterfly bolt MBxT5 Q235A | 2 /T 3098
25| YW66081500000 Flat washer 8 Q735A | 14 8x19x2.0
24 | YW00040600000 Door lock long fender SUS201 | 1 MF-L,06-DH
23| Yw00000000100 Long door lock PVC 1
22 | YW000L0600200 Long door lack key SUS201 | 1 CF-L06-DH
211 YW630L0600000 Cross recessed pan head screwMbx6 Q235A | 2 GB/T-823
20| YE10021160000 Main power switch PVC 1 T0-2-1/EA/SVB/16AMule
19 | STM-2440-A-05 Door plank 1 Welding parts
18 YW61061600100 Inner hexagan flat head screw Méx16 Q235A L GB/TT02
171 YE67002900000 Cable clamp PVC 1
16 BES1250400450 Cable 1 | 25x4Cx4M(Tubular terminal)Select based on voltage
15 SG-S-01 Wire fixture fixed plate SPCC20 | 1
14 | YW06219100000 Big hinge 2024 ? ShengjiufL219-1
13 YW62051000100 | Large cross socket flat head screw M5x10 | Q235A 12 ST
12 | YW670L0600600 | (ross socket pan ead seli-fopping lock screw Mexé | Q235A | 6 686560
1 YW62061000000 | Large cross socket flat head screw Mex10 | Q235A | 16 SIS
10 | YW03000300200 3" without brake Castor Q235A | 2
9 | YW65008000100 Standard spring washer 8 65Mn 6 GB/T93
8 YW61082001200 Inner hexagon cylinder screw M8x20 129 n GB/T701
71 YW67481900000 (ross socket head tapping screw Q235A | 1 GB/T15856.1
6 | YRL0018500000 Fixed base PVC 1 WOSAD18 5B
. 5 YW60061500100 Hex. bolt Mbx16 129 L GB/T5783
L | STM-2L40-A-10 Pump fixed plate SPCC25 | 1
3| YW6L000600300 Hexagonal nut M6 Q235A | & GB/T6170
2 | YW65006000100 Standard spring washer 6 65Mn | & G8/793
1 YW03000300000 3"with brake Castor Q235A 2
Mo Material nunber Name Mat Num Remarks
HE W5 B STH-2440 | EE IS
— STM-2440-A-ALL
it ¥ hrc =Rl

#i E#W ERE ERA HE | %H HH o Shini Plastics Technologies, Inc. e ‘




23 24 25 26 27 28 29 30 31

37 S-08 Pipe coupler H58 1 1/L"PTx1/L"PT
2 36 YW63042500000 Cross recessed pan head screwMix2s | A235A | 2 GB/T-823
3 35 YE66015800000 Flexible condult PAG6 3 WY-PA6ADIS.8B 1.3m
L 34 YE67015800100 Flexble pipe bind end PvC 3 WAEAD15.88
L — 33 YE67111000000 Quick connector of hose PVC 1 WaG1-P11B
5 32 STM-2440-B-02 Heating fank 1 Welding parts
6 31 YW62051000100 arge cross socket flaf head screw Msx1q A235A 6 JIs1
) ) 7 30 S-60-ALL Level detector assembly 1 Assembly
8 29 YW66051300000 Flat washer A grade 5 Q235A 1 GB/T971(5 5x10x1)
9 28 S-30 A ne il e YL-112 1 3/47G Temale e
‘ - 10 21 STM-2440-A-09 el 1 Welding parfs
} } 26 YE14152400000 175 et 1 LXWS=1124 ol Lo 1 100mm
o0 3_ " 25 BH12060701710 H to PT connector H58 2 | Female thread 1/4"PT to female thread 1/4"H
)—Cﬂ 2L YW63030600000 Cross recessed pan head screwM3xs | A235A 3 GB/T-823
2 23 YW85001000100 Pressure gauge 1 0~1.0MPa .11
22 YW65008000100 Standard spring washer 8 65Mn | 4 B/193
21 STM-2440-B-10 Mauning late mstaton soon i beatng ove | G|
20 TP-280 <y Q235A 1 28kw Ao
20 /19 18 17 6 15 14 \13 19 YW66061300000 Flat washer A grade 6 Q235A 6
18 YW60062500000 Hex. bolt Méx25 L8 4 GB/T5781
17 YW64000600300 Hexaganal nut M6 a235A 6 GB/T6170
16 BH90115000050 High temp. tester 1 EGO
15 S-171 Teflon plug H58 1 3/8"H plug
| YE6T001340000 Flexible pipe blind end pvC 2 WQEAD13.0B
13 YE66001300000 Flexible conduit PAG6 2 WY-PA6ADI3.0B 15m
12 YE32382L00000 Solenaid valve 24V 1 3/8PT (Kailing)
il S-73 Copper insert H62 1 M13x1/2"PT
10 YR20121200000 Flexible graphite gasket 1S0-68 3 120x120x2.0
9 YE67165800000 Quick connector of hose PvC 2 WQG1-M16B/AD15.8
8 S-190 Pipe heater tover SPCC10 | 2
7 STM-2440-B-07 Assembled pipe heater assembly 2 Assembly
6 YW66102000100 Flat washer A grade 10 a235A | 20 GB/T971 (11x20x2)
5 YW65010000000 Standard spring washer 10 65Mn | 20 GB/T93
L YW61103000100 Inner hexagon cylinder screw M10x30 129 21 GB/T101
3 STM-2440-B-09 Water outler of cooling fank's caoling pipe SUS304 1
2 YW05083800100 Sleeve connectar 6 8MMX3/8"PT  L-type (H59)
1 STM-607-B-04 Cooling pipe assembly 1 Welding parts Borrowed
No Material number Name Mat. Num Remarks

4 K% A STMo2LL0 | ES IRES

e " vy STM-2440-B-ALL g@ =

v ) §I'IINI EEEMAREGERAT | AHEX
BiE|  ERN E%E | ERA | BE | ¥H BER — Shir Plastics Technologies, Inc. %ﬁ%‘




$20 | £2F

66 YW50220000000 Butferfly ball valve SUS304 | 1 1/L" heat-resistant 200t
65 YW61083000000 Inner hexagon cylinder screw M8x3 129 4 G8/T701

bl YW59383800100 Pipe coupler SUS304 | 1 3/8PT3/8PT L
63 S-142 Copper joint fourth sef 1

62 YW57010200000 Y-type filter H62 1 172" PT 30-35 mesh
61 YR30010200000 Copper pipe plug Rubber 2 1/2'PT

60 STM-2440-B-04 Pressure gauge SUS304 1

59 YW6L000L00500 Hexagonal nut ML A2-70 2 GB/T6170

58 YWO05061400000 Sleeve connector L 6MMX1/4"PT(H59)

57 S-109 Liquid level switch insulation gaskej ~ 3-60 2 Aramig fiber production(has mould)
56 YR4L0251500100 Plastic plug without nut PvC 2 SM25x15(Black)

55 BE90342500050 Thermocouple SUS304 | 1 25M

53 YW05061400100 Sleeve connector L 6MMX1/4"PT L-type (H59)
52 STM-2440-B-08 Dil bypass SUS304 | 1

51 S-82 Level detector nut H62 1 1VLH

50 YW59308000600 Swing check valve 3/8" Cu 1 KITZ

L9 STM-2440-B-15 Reverse air suction pipe SUS304 |

L8 STM-2440-B-03 Level defector pipe SUS304 |

L7 STM-24L0-B-01 Cocling -2 1 Welding parts

L6 YE67109000000 Quick connector of hose pvC 1 WO0G1-P09B

L5 YW66081900000 Flat washer 8 Q235A 8 8x19x2 0

Ll YW65006000100 Standard spring washer 6 65Mn 6 GB/T93

L3 YWO0L030800400 Tonflan connector H58 1 1/L"PTx3/8"H L

42 S-84 Copper three-way jont 3/8” 1 Equipped with universal capper nut
41 S-85 Copper insert H58 1 3/8"PTxo13

40 STM-2440-B-05 Water inlef of coaling tank’s coaling pipd  SUS304 | 1

39 STM-24L0-B-06 Water outlet of Oil tank's cooling pipe | SUS304 | 1

38 YR10150000000 Tlarce ca 150-68 | 2 TP-150-A-18(has mould)
No Material number Name Mat Num Remarks

HR STM-2440 E5

STM-2440-B-ALL

i

IS

= ©|#K

EHH

ERE

ERA

EE

SHINI

ESBRMAENERAR
Shini Plastics Technologies, Inc.

FEER

s |




=

(4

V

989

BRRREEEH
Fawsd

421

Pump Max. Pressure
(bar)

Max. pump Flow(L/min) [Pump Power(kWiieater(kW|

ax Temp

Weightlkgl | Ver.

80 100 4 36 |200°C| 155 | F
Cooling heating Tany
et /0ute sze € P tenate nreas et [0S | Main/Sub0il Tank(L) 3 13
T Indirect
/% Cooling 14716 3

Y ... 4
Zzzzzzzzz
. 4

G
iz

sz
4

.. 4
.4
£ o
° @
b]m A\\Y
9
2 STM-3650-B-ALL Internal structure 1
1 STM-3650-A-ALL Shell metal plate 1
No Material number Name Mat Num Remarks
HE & B STMO3650 | ER IRES
it W WABEA — O R
y P,
L5} * SHINI i =rpansnnaa HAER
ﬁiﬂ. i&ﬁ]— i& 5 iﬁ A H m ?ﬁ H ﬁ Shini Plastics Technologies, Inc. %ﬁ’% ‘




15 16

1

. iy

‘j{

/%// .
Ty
: iy 1
s Wy
Wy
o Wi P
y e
= || A7 y
0000000
[ Yy
000000000
N 0
b @ =
I JN
3 2 1
1104

n—"

20

22

133

(e e— T
35 YE900£48501200 RS485 Comwrunica ionin cr"uce board 1
e | -
* 33 | YRL00L8500000 Shell RSL8S 1
19 - 32 | YW6T0L0600600 | Cross socket pan head seli-tapping lock screw Mixs | Q2354 5 GB6560
1@ 31 | STM-3650-A-06 Left side plate 1 Welding parts
\@‘ 30 | STM-3650-A-01 Rack 1 Welding parts
) 29 | YR40523040000 Plastic flexible buckle pvC 1 52x30 has mauld
28 | STM-3650-A-08 Cover plate 1 Welding parfs
27 | STM-3650-A-07 Right side plate 1 Welding parts
26 | STM-3650-A-0L4 Control box bottom plate SECC1S5 1
25 | STM-3650-A-02 Cantrol box rear plate 1 Welding parts
24 | YW06219100000 Big hinge 2024 2 ShengyuCL219-1
23 | STM-3650-A-05 Door plank 1 Welding parts
22 STM controller 1
21| YW20660900100 Door plank aluminum handle 2024 1 6609(Yaxuan)
20 | YW90120700000 Aluminum caoler 6061 3
19 | YW03000300200 3" without brake Castor Q235A 2
18 | YW69020500000 Rivet 2x5 2024 39 GB/T 827
17 | YW01051000000 Pin spring 65Mn 6 for new model of STM
16 | YW69081500000 Butterfly bolt M8x15 Q235A | 2 GB/T 3098
15 | YW66081900000 Flat washer B Q235A | ¢ 8x19x2.0
14| YW00040600000 Door lock long fender SUS201 | 1 MF-406-DH
13 | YW00040600200 Long door lack key SUS201 1 CF-406-DH
12 YW00000000100 Long daar lock pPVvC 1
1| YW63040600000 Cross recessed pan head screwMbxé Q235A | 2 GB/T-823
10 YW61061600100 Inner hexagan flat head screw M6x16 Q235A L GB/T70.2
9 YE67002900000 Cable clamp PVC 1
8 BES1250400450 Cable 1 25x4CxkM(Tubular terminallSelect based on voltage
7 YW62051000100 | Large cross socket flat head screw MSx10 | Q235A | 12 JIs11
6 YW61082001200 Inner hexagon cylinder screw MBx20 12.9 L GB/T70.1
5 | YW62061000000 |Large cross socket flat head screw Mex10 | Q235A | 16 JIs1im
4| YW65008000100 Standard spring washer 8 65Mn 6 GB/T93
3 YW6TL81900000 Cross socket head tapping screw Q235A 1 GB/T15856.1
2 YRL0018500000 Fixed base PvC 1 WOSAD18.58
1 YW03000300000 3" i i brake Castar Q235A 2
No. Material number Name Mat. Num Remarks
Gl K% FE STM-3650 E% A %E
o STM-3650-A-ALL
it ¥ hrc =Rl
st # SHIN :5=pnssnnna KEER
ﬁiﬂ i&ﬁj i& }ﬁ E% A H m ?ﬁ B ﬁ Shini Plastics Technologies, Inc. %ﬁ% ‘




27 78 29

£1F | £2%

RS

STM-3650-B-ALL

L1 BH90115000050 High temp tfesfer 1 EGO
40 YE66001040000 Flexible conduit nylan 66 | 1 WY-PA6AD10.08 13m
39 YE67001000000 Flexible pipe blind end pPvC 2 WQEAD10.08
38 YW50220000000 Butterfly ball valve SUS304 1 1/L" heat-resistant 200t
37 YW05061400100 Sleeve connector L EMMX1/4"PT L-type (H59)
36 S-60-ALL Level detector assembly 1 Assembly
35 YW59308000600 Swing theck valve 3/8” Cu 1 KITZ
3L STM-3650-B-17 Reverse air ax-:.37 222 SUS30L 1
33 S-30 Alumire= YL-112 1 3/L°G female thread
32 STM-3650-A-09 Bz 1 Welding parts
31 YW63042500000 Cross recessed pan head screwMix25 Q235A 2 GB/T-823
30 YW6L000400500 Hexagonal nut M. A2-70 2 GB/T6110
29 YE14152400000 Micre 1 LXW5=124 rod [=nnth 100mm
L 28 YW85001000100 Pressure gauge 1 0~10MPa F )0
N N 27 S-109 1quid level switch nsulation gasket| ~ 3-60 2 | Aramid fiber production(has mould)
? 26 YW63030600000 Crass recessed pan head screwM3x6 Q235A 3 GB/T-823
il 25 BH12060701710 Hto PT connector H58 2 | Female thread V/L'PT to female thread 1/4°H
; 24 YW05061400000 Sleeve connector A 6MMX1/4"'PT(HS9)
4 23 YW65008000100 Standard spring washer 8 65Mn L GB/T93
22 STM-3650-B-10 Mounting plate insulation cotten of heating tank |Aluminum silicate| 1
2 YW66081900000 Flat washer 8 Q235A 8 8x19x2.0
20 YW60063000000 Hex. bolt M6x30 L8 4 GB/T5781
19 YW04030800400 Tonflon connector H58 1 1L"PTx3/8"H L
18 S-171 Teflon plug HS58 1 3/8"H plug
17 YE67001340000 Flexible pipe blind end PVC 2 WOEAD13.08
16 YE66001300000 Flexible condut PA66 2 WY-PAGAD13.08 15m
15 YE67165800000 Quick connector of hose pvC 3 WQG1-M16B/AD15.8
iA YR20121200000 Flexible graphite gasket 1SO-68 1 120x120x2.0
13 STM-3650-B-09 Water auetof antng tanks coatngpoe | SUS304 | 1
12 S-190 Pipe heater cover SPCC10 3
n YWO05083800100 Sleeve connector 6 8MMX3/8"PT  L-type (H59)
10 YW66102000100 Flat washer A grade 10 A235A 20 GB/T97.1 (11x20x2)
9 YW61103000100 Ihner hexagon cylinder screw M10x3 12.9 21 GB/T70.1
8 YW65010000000 Standard spring washer 10 65Mn | 20 58/793
7 STM-3650-B-07 Assenbled pipe heat er assembly 3 Assembly
6 STM-607-B-D4 Cooling pipe assembly 1 Welding parts Borrowed
5 YW66061300000 Flat washer A grade 6 Q235A 7
b YW6L000600300 Hexaganal nut M6 Q235A 7 GB/T6170
3 YW65006000100 Standard spring washer 6 65Mn 7 GB/T93
2 YW62051000100 Large tross socket flaf head screw MSx10 0235A 6 Jisit
1 YW66051300000 Flat washer A grade 5 0235A 1 GB/T971(5 5x10x1)
No Material number Name Mat. Num. Remarks
HE W5 B STM-3650 | EE IS

= ©|#K

EHH

ERE

ERA

EE

SHINI

EHEMRBRBRNEIRAT

Shini Plastics Technologies, Inc.

FEER

s |




$2% | kR

66 STM-3650-B-04 Pressure gauge pipe SUS304 1

65 STM-3650-B-05 Water inlet of coaling tank's cooling pips  SUS30L | 1

64 YE67015800100 Flexible pipe blind end PV( L WQEAD15 88

63 YE66015800000 Flexible conduit PA66 4 WY-PAGADIS 88 13m

62 YE67111000000 Quick connector of hose PVC 1 WaG1-P118

61 YR10150000000 Flange gasket ISO-68 2 TP-150-A-18(has mould)

60 BM20423000050 Pump 1 TP-L00

59 YW61083000000 Inner hexagon cylinder screw M8x3 129 L GB/T701

58 S-08 Pipe coupler H58 1 1/L"PTxI/L"PT

57 BEJ0341500050 Thermotouple SUS30L4 1 15M

56 STM-3650-B-08 Oil bypass SUS30L4 1

55 S-82 Level defector nut H62 1 1/L"H

54 STM-3650-B-03 Level defector pipe SUS30L4 1

53 STM-3650-B-01 Cooling Fank 1 Welding parts

52 STM-3650-B-02 Heating fank 1 Welding parts

51 YE67109000000 Quick connector of hose PVC 1 WaG1-P09B

50 S-BL Copper fhree-way joint 3/8" 1 | Equipped with universal copper nut

L9 YE32213100000 Solenoid valve 1 3/8(Kailing)220VAC

L8 YW59383800100 Pipe coupler SUS30L 1 3/8"PTx3/8"PT L

L7 S-85 Copper insert H58 1 3/8"PTxe13

L6 S-142 Capper joint fourth sef 1

45 YW57010200000 Y-type filter H62 1 1/2" PT 30-35 mesh

Ll S-73 Copper insert H62 1 M13x1/2°PT

43 YR30010200000 Copper pipe plug Rubber 2 1/2°PT

42 STM-3650-B-06 Water outlet of ail tank’s cacling pipe | SUS304 | 1

No Material number Name Mat. Num Remarks
4 K% B STHo3es0 | ES IRES
it ¥ W%B%ﬂg STM-3650-B-ALL g@ from
st * EEERAREGERLT | THEX

EHH

ERE

ERA

EE

SHINI

Shini Plastics Technologies, Inc.

s |




	機構圖STM-607-3Φ230V400V50HZ(VER.I)EN BP33607300100
	機構圖STM-910-3Φ230V400V50HZ(VER.H)EN BP33910300400
	機構圖STM-1220-3Φ230V400V50HZ(VER.G)EN BP33122001100
	機構圖STM-2440-3Φ230V400V50HZ(VER.F)EN BP33244000600
	機構圖STM-3650-3Φ230V400V50HZ(VER.F)EN BP33365001600

